
COLOUR CODE 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1961  

 

    ______ :||| ______    

GREY      )||||(       RED  

    ):|||(  

    )||||(  

BROWN_____):|||(  

           ||||( 

Primary                :|||(                   secondary  

    ______ ||||(  

ORANGE    ):|||(  

    )||||(  

    ):|||(  

BLUE______)||||(______ YELLOW 

     :|||    

     | 

     : 

     |________BLACK = Electrostatic screen  

 

 

 

1961 As discussed with Brian Sowter this is 9545 but with ratio 1+1:1 

  



COLOUR CODE 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1961z  

 

    ______ :||| ______    

GREY      )||||(       RED  

    ):|||(  

    )||||(  

BROWN_____):|||(  

           ||||(______ GREEN  

Primary                :||| ______             secondary  

    ______ ||||(       PINK  

ORANGE    ):|||(  

    )||||(  

    ):|||(  

BLUE______)||||(______ YELLOW 

     :|||    

     | 

     : 

     |________BLACK = Electrostatic screen  

 

 

 

1961z As discussed with Brian Sowter this is 9545 but with ratio 1+1:1+1 


